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Motor development of a child is related to

1. Social development

2. Mental development

3. Physical development
4, Emotional development
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A child can go to home from his school, when he is asked about the
route to his home he couldn't reply. The child is in this cognitive
stage.

1. Pre operational stage

2 Sensory motor stage

3. Formal operational stage
4 Concrete operational stage
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The moral stage of a child who gets ready to finish his home work if
he was offered a movie

1. 1% stage — pre-conventional level
2. 2" stage - pre-conventional level
3. 3"stage — conventional level
4, 4™ stage — conventional level
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The psycho social critical situation faced by primary school children
according to Erickson

1. Initiative vs Guilt

2. Autonomy vs doubt

3. Role identity vs Role confusion
4, Industry vs inferiority
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The approach in which experimenter simultaneously observes
various age groups of children and locate the differences among
themis.

1. Cross sectional approach
2 Longitudinal approach
3. Cross cultural approach
4 Eclectic approach
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A person doesn't like a particular political leader. He states that
nobody likes that political leader. The defense mechanism here in

1. Compensation
2. Regression

3. Projection

4, Identification
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The aspect that helps a person to know his nature is
1. Self esteem

2 Self concept

3. Self control

4 Self learning
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Children's growth rate is very high at this stage of development.
1. Early childhood

2 Infancy

3. Boyhood

4 Late childhood
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10.

The variety of actions shown by a living being for fulfilling its needs
by overcoming obstacles is

1. Behavioural style
2. Social maturity

3. Defense mechanism
4, Adjustment
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Kiran wants to go to movie with his friends but fears that he may be
scolded at home - The conflict here is

1. Approach — Avoidance
2. Approach — Approach
3. Avoidance — Avoidance
4,

Dual approach — Avoidance
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11.

12.

According to Gardner the intelligence that is possessed by an artist

who draws pictures is

1
2
3.
4

Bodily kinaesthetic intelligence
Visual spacial intelligence
Naturalistic intelligence

Music Rhythm intelligence

BS6 (P5°50 DSSHen SOR &od (e
Co =y

t—.\

Lol

FOEE DYoYBE g
&Y% (R8s g
(D5)B Bo206 (dg

BOAS ©dH 102008 Dy

Intelligence Quotient of average intelligents
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1
2
3.
4

90 - 110
50-70
130 - 140
140 - 150



13.

14.

A person who learnt to play Guitar wants to learn football. Here, the

type of transfer of learning

1.

2.
3.
4.

Positive transfer
Negative transfer
Zero transfer

Bilateral transfer
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Engrams are

1. Instruments to measure forgetting

2 Instruments to measure memory span
3. Memory traces

4 Instruments to measure heart beat
95_@5:0 9D
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15.

16.

House and clothes are

1
2
3.
4

Physiological needs
Safety needs
Love and belonging needs

Need for self actualisation

Kye0, 2a¢ye0 TN

1.

2
3.
4
Driving vehicle as per traffic lights is an example for
1
2
3.
4
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Reinforcement
Extinction
Stimulus generalisation

Stimulus discrimination
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17.

18.

Samhita not only reproduces Sanskrit slokas learnt by her during
childhood, but also explains their meaning. The memory of Samhita

IS

1
2
3.
4

Rote memory
Immediate memory
Logical memory

Short term memory
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The highest level objective of affective domain is

1.

2.
3.
4.

Characterisation
Organizing
Responding

Receiving
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19.

20.

In the experiments conducted by Ebbinghaus on forgetting the
percentage of forgetting after 6 days is

ORI 0B BT PAre” 6 Sl SoNS I TS0

1.

2
3.
4

66%
2%
75%
79%

One among the following doesn't related to social learning theory

1.

2
3.
4

Millar
Dollard
Walters

Bruner
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21.

22.

Correct statement about learning

1.

2.
3.
4.

Learning is a product, not a process
Learning influences some aspects of behavior only
Learning is a transferable process

Learning is a limited period process

@IS0 K80 JJS (dITH0

1.

2
3.
4
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The concept ZPD (Zone of Proximal Development) is related to

1
2
3.
4

Socio cultural theory
Social learning theory
Psycho analytic theory
Kohlberg theory
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Dysphasia refers to
1. Oral language disability

2. Writing disability

3. Attention deficit disorder
4. Arithmetic disability

ES DA BAE ¥020080AI8.
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At this stage of teaching process, the teacher specifies the objectives
and notes them as behavioural aspects

1. End of teaching

2 Before starting of teaching

3. During teaching

4 During Teacher Pupil interactions
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25.

26.

This method facilitates the student to learn at his own pace and
competency

1. Group learning

2. Activity based learning
3. Co-operative learning
4, Programmed learning

g8 &S éf";SJ%"si)é, Iedd e9SrKrer0m @25§ooise5°c‘3§ DIEB0T
DS,
P
1. &é&e% @2;5526:60
2 §°>®'°§C5°C5 @2;55&60
3. PeYSpistle] @2;556560
4 SECIIERMEMIL AN

The first step in Herbartian steps of lesson plan

Presentation
Preparation
Application

P w DB

Recapitulation
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27.

28.

The correct sequential order of steps in teaching through T.V.

A)
B)
C)
D)
E)

Preparing students
Discussion of subject content
Presentation of programme
Review of lesson

Testing of students

BOzS o0 w08 G Firoro V8@T (EHI

A)
B)
C)
D)
E)

1
2
3.
4
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Right to parental care comes under this category of child rights

1
2
3.
4

Right to Develop
Right to Survive
Right to Participate
Right to Protection
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29.

30.

One of the following is not the opinion of NCF-2005 about
Evaluation and Examinations.

1.

2.
3.
4

Implementation of Open book system of Examinations
Removal of oral assessment system.

Continuation of short term examinations

Need of Time bound examination

SrergoES0 - $OKe K00 NCF-2005 eFrao 8.

1

2
3.
4
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According to RTE-2009, 100% access in Primary level means.

1.

Availability of Primary school within the radius of 5 kms to
every habitation.

Availability of Primary school within the radius of 3 kms to
every habitation

Availability of Primary school within the radius of 2 kms to
every habitation

Availability of Primary school within the radius of 1 kms to
every habitation

RTE-2009 (35750 (g% Jo0d” 100% e0ermen oS
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61.

62.

63.

64.

Choose the linking word that can be used to express ‘contrast'..

1
2
3.
4

English — Paper -1 — Set - 5

SO
but
thus

moreover

The doctor took off his coat

The meaning of the phrasal verb 'took off" is:

1
2
3.
4

cleaned
washed
removed
folded

I would like a cup of tea.

This sentence expresses:

1
2
3.
4

preference
order
compulsion

future of the past

Choose the sentence that has a noun clause

1
2
3.
4

The student said that he would come the next day.
That book is not mine.
| don't like that book.

India is a land of many languages.



Napoleon, who won the French honour, died at St. Helena

The part of the sentence, 'who won the French honour' in the
sentence above is:

1 a defining relative clause

2 a non-defining relative clause
3. a finite clause
4

a non-finite clause

Sit down a moment, ..............
Choose the correct question tag to complete this sentence

1 would you ?
2 shall you ?

3. don't you?
4

Isn't it ?

Jumping on the horse, the former rode to the market.
The part of the sentence, "Jumping on the horse" is:

1 a finite clause

2 a relative clause

3. a non-finite clause
4

a non-defining relative clause

Choose the correct "Yes / No' question.

1 Don't you like coffee ?
2 Do you likes coffee ?

3. Does he liked coffee ?
4

You does like coffee ?



69.

70.

71.

72.

Sindhu finished her project several days ......... the deadline

Choose the correct compound prepositional phrase that fits the
context

1 Instead of

2 Instead off

3. ahead of

4 in spite of

il the class teacher, | would not punish that student.

Choose the correct verb to complete the meaning.

1 have
2 were
3. have been
4

am

Harish wants to be a great wrestler but heis ...............
Choose the correct phrase to fill in the blank in the sentence above

1 strong enough

2 not strong enough
3. not enough strong
4

enough strong

| arrived at the station. Then the bus came in.
The meaning of these two sentences can be expressed as:

1 No sooner had | arrived at the station than the bus came in.
2 Before | arrived at the station, the bus has come in.

3. As soon as the bus came in, | arrived at the station.
4

All buses came in when | arrived at the station.



73.

74.

75.

76.

Choose the word that cannot be used to write an adverbial clause of
reason.

1
2
3.
4

Since
As
Because
When

Choose the correct expression with the correct order of adjectives.

1
2
3.
4

A silk nice saree
A nice silk saree
A saree nice silk

A silk saree nice

A: Do you know Mrs. Geetha?.

B:Yes, Ido.l................. her for nearly four years

Choose the correct verb phrase that fits the context

1
2
3.
4

know
do know
have not known

have known

Swimming is good for health.

In the above sentence, 'swimming' is :

1
2
3.
4

a past participle
a present participle
a gerund

a helping verb



77.

78.

79.

80.

Choose the sentence that is not in the present perfect tense:

1 | have already been here for five days
2 She has just completed her work.

3. You have never met me before
4

You have no broken chairs

The weaver said, "Ramya, do you want to buy it?"
Choose the reported speech of this sentence.

1 The weaver told Ramya that he wanted to buy it.

2 The weaver told to Ramya that he wanted to buy it.
3. The weaver asked if Ramya wanted to buy it.
4

The weaver asked what Ramya wanted to buy it.

He arrived at the station by ........... car
Choose the article that fits the context.

1 a
2 an
3. the
4

no article is needed

He feels as if he were a Prime Minister.

1 A simple sentence

2 A compound sentence
3. A complex sentence
4

A compound complex sentence



[ 81 — 83] — Read the following passage and choose the correct answers to
the questions given after

The greatest thing this ager can be proud of is the birth of
man in the consciousness of men. In this drunken orgies of
power and national pride, man may flout and jeer at it. When
organized national selfishness, racial antipathy and
commercial self seeking begin to display their ugly
deformities in all their nakedness, then comes the time for
man to know that his salvation is not in political organizations
and extended trade relations, not in any mechanical re-
arrangement of social system but in a deeper transformation
of life, in the liberation of consciousness in love, in the
realization of God in man.

81.  Inthis passage, the phrase 'God in man' implies:

1 God having assumed the shape of man.
2 Neither fully godly nor fully human.

3. Man being transformed into God.
4

The divine qualities in man.

82. The author uses the expression, ‘'ugly deformities' to show his
indignation at :

1 Political organizations

2 The liberation of human consciousness

3. Selfishness and materialism of the people
4

The drunken orgies of power
83.  According to the author, 'salvation' of human beings lies in the:

1 Extended trade relations

2 Spiritual transformation of life

3. Orgy of National pride

4 Wholehearted participation in political organizations



84.

85.

86.

87.

Choose the synonym of 'serenity"

1
2
3.
4

calmness
murmur
dragging
earnest

Middle English was the result of:

1
2
3.
4

A major factor that led to the growth of English language in the

Norman invasion
Modern English
Renaissance movement

Language of governance

twentieth century was:

1
2
3.
4
The following is not true regarding a Language:

1
2
3.
4

The British invasion
English phonology
Johnson's dictionary

The two World wars

Language transmits culture
Language is extendible
Language is creative

Language does not change forever



88.

89.

90.

The old English form of 'house’ is:

1
2
3.
4

hoise
hou:z
hu:s

hoo:s

NCERT was established in:

1
2
3.
4

The following is not an objective of teaching English at the Primary

level:

1.
2.
3.

1952
1961
1947
2001

To make learning an enjoyable activity
To help learners recite rhymes and poems

To familiarize pupils with the spoken and written forms of
English.

To send pupils abroad
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1 8.66
2. 8.3
3. 8.5
4 9.3

The area of a square field is 7396 sqg.mts, then its perimeter

(in meters)
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F 2A=°"BthenA:B
2077

%A:%B @ons A B
1. 20:20
2. 21:20
3. 20:21
4. 10:11



94.

95.

96.

A rain fall of 0.896 cm was recorded in 7 hours, then the average

amount of rain per hour (in cm)

7 Koe:08” 0.896 0.0, STFS0 SITHIB. @0 1 Kot
DES BKed SEFS0 (0.0.05)

1
2
3.
4

0.128
1.28
12.8
128

If 3 (x—3) =5 (2x+1) then the value of ‘X’

3 (x—3) = 5 (2x+1) @003 X’ G, dews

1
2
3.
4

If the length and breadth of the rectangle are (5x+4)m and (x—4)m

then its perimeter (in meters).

égﬁ@é@m Boo), FEP $o0050 Ienjen (5x+4). 5805
(X—4)2. 0S5 T 568 (L. o)

1
2
3.
4

8x
X
14x
12x



97.

98.

99.

If 3x° (2x—5)° are complementary angles then the value of ‘x’ (in

degrees)
3X°, (2x—5)° & Yrvs %ergs X @Yy, ooy (Sl

1 19
2 20
3. 21
4 22

In AABC, if ZA =30° B =45°then £C (in degrees)
AABC &° /A =30° /B =45° @ans £C (&fos)

1 95

2 100
3. 105
4 110

The length of a line segment AB is 38m. A point X on AB divides it
in the ratio 9 : 10, then the length of the line segment AX (in meters)

AB Bgrpotsn En8), TP 38. HID Ko X & Doty

Srpomd) 9 1 10 AYAS® IFRK00. @00S AX Byrpossw
B, FEY (1eFS")

1 15
2 16
3. 18
4 19



100. Last year the cost of 1000 articles was ~ 5000. This year it goes

down to = 4000, then the percentage of decrease in its price is

K& 905550 1000 5090 &8 5000, B3 V0SB0 €5 SK99©
S8 " 4000 0% 3&Fo00d. ;& S85S° SKGSO TSI,

1 10
2 15
3. 20
4 25

101. Median of 49, 48, 15, 20, 28, 17, 15, 110

49, 48, 15, 20, 28, 17, 15, 110 » 5&&557(953533

1. 20
2 28
3. 17
4 24

102. Match the degree of each algebraic expression.

DB VSTFO HOSTETOS BSDES0E.

A 2382+ 10y ( ) (@ 2
B 8xy® + 5xy ( ) (b) 5
C. 9x-2y° ( ) (c) 4

A-(a), B-(b), C-(c)
A-(b), B-(a), C-(c)
A-(c), B-(a), C-(b)
A-(b), B-(c), C-(a)

> W o



103. If 3* = 5 then the value of 3" is
3*=5 wans 3 By, Jeos

1 27
2 81
3. 135
4 243

104. In a quadrilateral the angles are x°, (x+10)°, (x+20)°, (x+30)° then

the value of x (in degrees)

2.8 aseﬁm?)zsoes% §Peeen X°, (x+10)°, (x+20)°, (x+30)° 20055
X de0s (SRS’

1 75
2 85
3. 65
4 90

105. Number of edges of a cuboid is
65%:3326;533 SBo¥), WO 2603)5

1. 8

2. 12
3. 16
4. 10



106. Arithmetic mean of 9 observations was calculated as 45. While
calculating the mean an observation was wrongly taken as 42 instead

of 24, then the correct mean

28 SE0F50E’ 9 TP Ve 45 ©d BY) oudS8. wen
DesoerS® 2.5 078 24 0 42 [ PEJenr B 0SS 9 oo

€900 DX
1 43
2 34
3. 53
4 44

107. If B =100° in a parallelogram BEST then 2E is equal to

BEST e9:5 050658 5@3&2)&;5336" 2B =100° e020:5 2E &8

POINOLNINGY

1 90°
2 180°
3. 80°
4 60°

108. The order of rotational symmetry for a square
BBLGROS0 B, (@Foes ‘%":&5 DBITEI[0
1 3
2 4
3. 5
4 6



1009.

110.

111.

In a triangle, if the height is double to its base and the area is 400cm?

then the length of the base (in cm)

2.5 (@20208 I o 48 BoKiBey God. (@b PFwgsn
400 530.. @003 €5 (Behesn 4 (0.20.08°)

1. 15
2. 25
3. 20
4. 30

AABC = APQR, if AB = (2x + 5)cm and PQ = 25 cm then the value

of x (in cms)

AABC = APQR, AB = (2X + 5) 20.25. 558050 PQ = 25 20.20.
@023 X BT IS (20.2.08%

1. 10
2. 20
3. 30
4. 40

If Sunita takes a loan of =~ 5000 at 12% rate of interest then the

interest she has to pay at the end of the year (in rupees).

0des 5000 o 12% ;Séé IPT H:E0B. 1 0o SoNS e
BOOBIORI :,sé (ErrosHes’)

1 800
2 700
3. 750
4 600



112.

113.

114.

One of the following Pythagorean triplet is
808 S° PER*ECHS (BES®

2,3,5

9,10, 11

1
2
3. 3,4,5
4 6,8,9

Cube root of 4096 is equal to

4096 B0E). DS JTOIIE DSIPII0SE

1. 18

2. 16

3. 26

4. 36

x—l = 0 then the value of x+1
X X

x—l = 0 eonS x+1 ®o§zr RIS
X X

1. 1
2. 2
3. -3
4. 3



115.

116.

Paper-1 Set- V Maths Methodology

In general this is not a characteristic feature of a “Project

1 Series of connected activities
2 Organised by teacher

3. Learning by doing

4 Objective based

JTE0M @"5% (@§®°)?6) SBoo¥), ©Fe0 578
1 §°)e3°§e> DSeTE0

2 éiﬁc’;@dﬁooébzﬁ K)czsirl’orazaéé

3. DTy 3W)§seso

4 @gagcrdom &ONOH

Highest objective in psycho-motor domain

1 Imitation
2 Precision
3. Articulation
4

Naturalisation

SSRE-TOT S 50K0S°D SEGH)S OF50

1 ©9:0585€30

2 mi)?oeﬁeﬁogo
3. c%a‘;)cis*a
4

BrRE8e0



117.

118.

The method of curriculum organisation in which a topic is divided
into meaningful parts, out of them, the first part is taught in one class
and the next part is taught in the next class is

1. Topical Method

2. Concentric Method
3. Analytic Method
4. Spiral Method

2.8 BOEDH @ISOBIN oo JENYS STS IS arm)
2.5 SERAS® SPO0DS SIS 5% BT SWIS SEXDS
F°R0T ITYHETIE SFILDS DS
1 88% 1S
o (o]
2 DEZO(ES DA
[on]

3. zsgzm 288
4 08Y® HES

[on]

The type of question in which answer will be selected is

1 Very short answer
2 Short answer

3. Multiple choice

4 Essay type

RETEPIY) AOVETAN T5°AS TodS (DFew
1 OROVITES
2. H0§Y JSrees
3. aa:ro?_f)iﬁ

4 J"agmi?‘éa



119.

120.

One of the following is not an instrument of Mathematical

instrument box.

1 Pointer
2 Scale
3. Divider
4

Protractor

54808 TS’ Kedes HBETR DS $O5BO 57D

1 _oe)

2 0

3. QTR

4 0572

The type of reasoning behind “Taking some pairs of odd numbers,
adding those odd numbers in each pair and arriving a conclusion that

addition of any two odd numbers is even number” is

1 Analytic

2 Synthetic
3. Inductive
4

Deductive

§R) aso Bddopgen BRED, (B a3S°D BdVoPguH Hosso

DAes TRO°, D 38 BAVOPL 0G0 WONT® HBVOPS WHS0E
AT O°SE0 HeOEDS SHI¢S0

L 3

™
2 DoFIE
™

3. (SN
4 QRS0S
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121, — son[Raju]— son — daughter [Rani |

122.

In this, the relationship between Ramayya and

Father and daughter

Rani is

Great grandfather and great grand daughter

1

2

3. Grandfather and grand daughter

4 Great grandfather and grand daughter

méodﬁaag — 8§05 | over | > S0 |oes

8S° OPR00Sg, CEde S5 DO OSSO

1. Bolg, Sl
ST, S0 IIT°L
T, 0II0°

Ll

QS0 OSIT°LD

Mithali Raj is a famous

1 Kabaddi player

2 Badminton player
3. Cricket player
4

Tennis player

FOTE (FRQTOVS 28

1. sré (oo
er&ioes (§as0ed
&35 Eorsroed

Lol

BYS Ssoed

— B¢

o°eR




123. Grass plants have leaves with parallel venation and root system with

124.

1
2
3.
4

Fibrous roots
Taproot and side roots
Climbing roots

Respiratory roots

G 0% e DITOSY B30 TG SOR &08 &),
BOEDS I8 SOR €08 b S5 SOA &oerom.

1.

L

DL

SYID, (P8I0
KerE %
FYOT Iy

The wind movements are caused by

1
2
3.
4

Uniform heat on the earth
Stable state of heat
Formation of water

Uneven heat on the earth

D30 EQOZOE 328830

1.

L

2P DITSZ0S IED
D Qoo GotEo

N )0

PrDAE IEWE° Sgegren



125.

126.

This is an example for incomplete flower

Hibiscus
Datura

Papaya

=l

Lotus

“

DVOYY DAY &8 &I

1. Nblelaile]
2. &0
3. & )00
4. GNVTef

The chemical substances used to know the presence of protein are

1 lodine and water

2 Copper sulphate and sodium Hydroxide
3. Potassium permanganate and water
4

Sodium chloride and potassium hydroxide
FET0 &8 BeoRESEIS EIEPACT SIS ST
1. ORBNES, D
508 988, Fdawo TETE
TR0 DO°YOKIE, DS

Ll

Do §BE, eraco ?@@5



127. The longest road-rail bridge in India is

1 Godavari bridge at Rajamahendravaram
2 Krishna bridge at Vijayawada

3. Godavari bridge at Nasik

4 Krishna bridge at Beechpalli

ESBIOSS PP 6 - Dew $08

L oaEorolEsso 8 Rorsd 508
Dz §' SYL 5083

28 §° Aors8 508

D59 8% By 5085

Ll

128. The state using solar energy to the maximum extent in our Country

IS

1 Andhra Pradesh
2 Maharashtra

3. Jarkhand

4 Gujarath

PESTIE’S FBFED IS IIBTART) oPRo
1. e30(PRBT
PCQY
B0&
P

Ll

Xo230°¢5



129.

130.

The type of bulbs used to minimize consumption of electricity are

1 Sodium vapour lamps

2 Compact Fluorescent lamps
3. Mercury lamps

4 Tube lights

3&55 DGR SROSEAS EDRTAOD 2O)e0

1. DFESH0 IHE ASHICE

2. sPor§ ;26?00523@32)@3
3. Bodab§6 ASWSY
4, w§5§§\)

The founder of Satavahana dynasty is

1 Sri Gupta
2 Ashoka
3. Srimukha
4 Shivaji

FEIOTT0S S0F ﬁc‘;:ﬁac‘so

L8 g
2. 95750
3. &Sopocd
4.  B>d



131. According to 'Right to Information Act-2005' if the application is

about 'Right to live', then the information should be given within

1 12 hours
2 24 hours
3. 36 hours
4 48 hours

VIPTE T 560 - 2005 (HSE0 ‘BI0T K" $020H0DS
SEPPRNE, B DO JITTTO HIOVS DZodio.

1. 12 Koere §%)

2. 24 Kot S
3. 36 Koty &%
4. 48 Kovre &%

132. The acid present in grapes is

1 Tartaric
2 Acetic
3. Citric

4 Lactic

(TE50ES” Ko e

1. 08
2. Q0BT
3. &E
4. o§§



133. In plants, the tissue in which sieve cells and sieve tubes are present

IS

1 Ground tissue
2 Xylem

3. Phloem

4 Pith

Boo§be§:i, IO Sereen, TPo) Treren $OR GG S892°00

1. LDOGPANE B3z 00
oL

PAE Eer2e00

Lol

CSZ,SDS

134. The parasitic plant, which can kill the host plant also for food is

1 Drocera
2 Cuscuta
3. Utricularia
4 Nepenthes

e5PE0ER0 BB DY K& SOVKIR BB,

1. (=eslen

2. §K>ozr§é3°

3. Oo|BngBSooir
4. J0RD



135. The correct food chain is

136.

Y

Grass — Grasshopper — Frog — Snake — Hawk
Grass — Hawk — Grasshopper — Snake — Frog
Hawk — Grass — Grasshopper — Frog

Hawk — Snake — Frog — Grasshopper

¥OBS T Ao

ot —>§bcse§—>§:>°)—>3~»;5w—>m
Co Q
K&—)Kd—)boéé—)béx—)%o)
Co Q
KC5—)?§&—)§)JC§€§—)§‘§D°)

Q o
?ﬁg—>3°;5w—>§ro°)—>boc‘ée§

The total number of incisors in our mouth is

1
2
3.
4

Two
Four
Six
Eight

DS FES &0k TEH Koo 080 Hopg

1.

L

TO&d
JPOO
(Ee
A



EVS - 53585 -1-28 -5

137. Mahajanapadha located in Southern India

1 Matsya
2 Vasta

3. Avanti
4 Asmaka

586> BESTI0E” IJOE) HTSHER0

1. ;Soeﬁ“)ag
2. 3595“)5

3. ONIeI)
4. @I@&§

138. The king who appointed 'Dhamma Mahapatra' to solve social

problems in his kingdom

1 Prataparudra

2 Vikramaditya
3. Ashoka
4

Pulomavi

83 FSreged™ FIrEE DBV HOXY 0V Wiy $HE\S’
O ATYENVBIS I(ESY,

L (PS5

DESTBS0ge

TEN~S

DS° ST

Lol



139. The Indian state that enacted a law in 1995 making it compulsory to

give official information

1 Arunachal Pradesh

2 Andhra Pradesh

3. Punjab

4 Rajasthan

BSOS VIPT o) IPEIAETY SRSV, 1995 & 5¢y0
B2 GEBAD oo

L oBersoRds

es0(PDBT

Doz

oS
()

e N

140. The Indian Constitution enshrined the ‘Right to Live’ in

1 Article - 21
2 Article - 22
3. Article - 23
4 Article - 24

BIOT %), "o EOY0DS Trargont efSSe
1. 213 Q583
223 95583
2335 Q553

L

2435 9080



141. The approximate percentage of drinking water over the entire

available water on the earth’s surface is

2 A TS’ HODIE FB0 HSTTH

1. 97 %
2. 94%
3. 3%
4. 6%

142. The raw material used in paper industry in large quantities

1 Waste paper
2 Grass

3. Subabul wood
4

Sugarcane pulp

TREY DOFHE" D) I EDRFA0B $0EIDHH
1. VS ATELD
Nohfe

Co

W2ens Eod

L

Béo&iaiao)



143. The Sarvodaya leader who wanted to solve the problem of land

144.

concentration through peaceful means i.e. through Bhoodan

movement

1 Vedira Ramachandra Reddy
2 Gandbhiji

3. Vinoba Bhave

4 Govinda Renede

0| Q5 DIVG TOBANS HEHHO TYO°, A &Ig0
TR0 DB, BT IO BENEAH T

1.
2.
3.
4.

36T oroTo|TTBE
ofe

ANEALIEALR

RPoe BST

Which of these is a divisional level court

1
2
3.
4

Sessions Court
District Court
Junior Civil Judge

High court

808 TAS° &S Fow TFALLI0
) (]

1.
2.
3.

RANE
287

20306 DAS e
Ea



145.

146.

EVS Methodology - PAPER -1 -SET -5

"To draw out the hidden innate abilities of pupils, the teaching
should be based on their capacities™ — This is the statement of

1. Dr. D.S. Kothari
2. B.S. Bloom

3. R.H. Dhave

4. D.R. Krathwel

“i)cs"gd(%@é‘s TAYY) BOSTS FHO wAHerd LGS T 0
D DTG SEEOT A S°ES BB - Be (HISTY IRYS T

1. . & dD. §od

2. 2. . 23320
3. e38. TS, 53
4. &. &b, 2SS

One of the following objectives belongs to affective domain.

1 Organization
2 Manipulation
3. Precision
4 Analysis

808 FIS° w8 eI BorrdS VowoRODS VK5O

1. ;553535‘06260

2. TPRYTN S0
3. Kwi)%éeéso
4, RERY

™



147. One of the following activities may not be taken-up jointly by

Science and Social Studies teachers

1 Observation of soils and crops
2 Recording weather in a month
3. Field trip to water resources
4

Field trip to post office

308 TIS® &8 E)S50 eESTRO S8 FOWEFIHO
éb@agoﬁweb ééﬁ)&&m DB,

L Joo, Hosren V830S

2. 25308 FES5Se0 S0
3. A S5H0H F& D858

4. PYVH FS DB

148. The best method to teach the lesson "oxygen is evolved in

photosynthesis" is.

1 Project method

2 Laboratory method

3. Problem solving method
4

Heuristic method

3eaesSs VOB ($A0S” esdymd ST HH0EY w0er BaHE’
&S JooTR) SRHODHOD S HES

L P50 / By 988

DBATO SZS

RIS DBXYY DL

L

6:93083/&8'5" DS
[on]



149. A more concrete experience than field trips is

1 Exhibits

2 Television

3. Dramatization

4 Motion pictures

308 TUS° FSHS§S0 ET) LS $o7E oeTYB)O
1 (DTS

2. 80w

3. F*¢35820

4. WOI WGP

150. In the present EVS text-books the title of the evaluation part at the

end of unit is

1 Can | do this?

2 Discuss in groups

3. Do you know?

4 What have we learnt?

(BR98 HBV0 L0 YIS, TS DIY SoTeegoES0 &Ko
Booy), BYY

1. IV BoHKxe?

2838° @Yoo

N Bende?

Lol

5050 J0es SEK 3&)‘353(3:)0?



